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I iR, T iR detia are] gemiE
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1. Ge ERIgrE HHanimeie ‘gavfn=n mug Fomen AieEs T ?
(1) STt 9Ted (2) oI gEa
(3) st fowd (4) swmash foat
At present who is known as the ‘Golden Girl’ of Maharashtra in the field of shooting ?
(1) Anjali Bhagwat (2) Tejaswini Sawant
(3) Bhagyashree Thipase (4) Bhagyashree Bile

2. Ao fowamErd AHeear gt A9 w2

(1) #Fe (2) HEH

3) & (4) AN
Which Committee is appointed for Telangan issue ?
(1) Shri Krushna (2) Mahajan

(3) Reddy (4) Nagrajan

3. e 2010 A Fagd smeredn, fogrdie 74 gemE™ 9| 9.

(1) gefier FAm e @) Tt gom

(3) TR AT (4) TwfEeTE IEEH

Name the New Chief Minister of Bihar, who is elected in Nov. 2010.
(1) Sushil Kumar Modi (2) Nitish Kumar

(3) Lalu Prasad Yadav (4) Ramvilas Pasvan

4. 47 1 HEWT T WE1 Fooe TR Wigeamed HIve e Sopss wue fmae wop fas
Al ?
(1) ==
@) fafe
3) i RS Wiew dead
(4) siEgrt wal
Which cinema is selected as a best Marathi cinema during 47tf Maharashtra State
Marathi film festival ?
(1) Swas
(2) Wihir
(3) Mi Shivajiraje Bhosale Boltoya
(4) Harischandrachi Factory

HooqT RIHTETS! AW/ SPACE FOR ROUGH WORK
P.T.O.

https://universitynews.in



https://universitynews.in

BMW 4

5. Gl dgeieRt IHT THR 9 HeA FEVH TAShU=AT IVl GaTH Hi=ge faeft 1R 2
(1) &S g (2) Hg8d
@) rea (4) TaEw
Which defence force has approved Sachin Tendulkar as a Honorary Group Captain ?
(1) Coast Guard (2) Army
(3) Navy (4) Air Force

6. A A FEAE 2010 Wil FT A qR gSeT.
1) @) Wrn
(3) gt (4) STHTEH
The 2010, Summit of NATO meeting was held in
(1) Spain (2) Russia
(3) Portugal (4) Afghanistan

7. 1 2010 ® I9 TYFd T HeAHgd Y TRV HIfYe 0T I AR,
(1) SwfeR TrerRar
(2) TFiaRuy &0
(3) TawRd g farfaean
(4) <EIAETEfEE
The year 2010 is declared as the year of by UNO.

(1) World literacy
(2) Protection of environment
(3) International Bio-diversity

(4) Antiterrorism

8. TN FeAfhTYe TR Jash qedi =ehTd ST SIS a1 HIvTeT I 37T 2

1 ] (2) P

(3) R (4) w&hd

By social networking the thousands of youth organized at Tarrir Square is placed
in which city ?

(1) Cairo (2) Tripoli

(3) Bagdad (4) Muscat

THooAT RINTATS STRTT/SPACE FOR ROUGH WORK
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HfeeT o I staen TamRe 7 uy I wafia Fa.
(1) TTTSIR FEIE] Tl QUM SR

(2) TAHMT WA FOATHIS! TET QR STfeR

(3) TSAHAETS! QT VIR

(4) STRATA GrETiSieh =AETETd) der QR ferdiar

Jyotiba Phule dedicated his book ‘Gulamgiri’ to those

(1) Indians, who had fought for social justice
(2) Americans, who had fought to free slaves
(3) Frenchmen, who had fought for revolution

(4) British, who had fought for Indian social justice

BMW

10.

Sfrenfier GeaAEE TRa TR 1940 Freft B TEAT T el

(1) 21 3ReSge AT wemed g

(2) HTA BR qrRfEihd fvg sefeeaa fad

(3) s Feifies fd deX

(4) 3femm sfRese At Tarsh

For industrial research, in 1940, the Government of India established
(1) Tata Institute of Fundamental Research

(2) Council for Scientific and Industrial Research

(3) Bhabha Atomic Research Centre

(4) Indian Institute of Technology

11.

REIRGEECE RS .

(1) FrEehRR (2) SR
(3) o Temrehm (4) =
Raja Ravi Varma was a famous
(1) Novelist (2) Magician
(3) Oil painter (4) Poet

Hoesdl HHTETS! ART/SPACE FOR ROUGH WORK
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12. Ufoeriiren gseam 1761-1999 1 HTB1G WRar= e fasmams deeuo!
FAGS FRgAam Adie.
(1) 9w (2) el
(3) =R (4) 9=
Historically, during 1761-1999, Industrial Development of India can grossly be
divided into periods.
(1) Seven (2) Six
(3) Four (4) Five

13. 3.4. 1854 WE WaTd d om | A9 gafinoh siftaeara a7l
(1) EHITETE (2) AR
(3) H% @) @
In 1854, the first cotton mill in India was set up in
(1) Ahamedabad (2) Nagpur
(3) Mumbai (4) Surat

14. <91 SIS IMTEATE ATetsh!, FEavT SR SAawea-e! S hd o TRUTTS.
(1) §g%a &7 @) @ &
(3) WESIeh & (4) TR &

The sector which owned, controlled and managed by the states, is known as

(1) Joint sector (2) Private sector
(3) Public sector (4) Co-operative sector
15. 3. 4. e A ST ISR ‘T sreifamge SR Wiwia.
(1) 1991 (2) 1951
(3) 1978 (4) 1981
In , India adopted a ‘New Economic Policy’ under which the

economy was liberalized.
(1) 1991 (2) 1951
(3) 1978 4) 1981

FHooAT RMTATS! ARTT/SPACE FOR ROUGH WORK

https://universitynews.in



https://universitynews.in

A 7 BMW

16. 1956 & SN LRI 1 witrd e firprefiet smuRee g
(1) <. &, IR (2) THF, AU
(3) €. €. %4 (4) AT Bgal
Industrial Policy of 1956 was based on the recommendations of the
Committee.
(1) J.C.Kumarappa (2) Ram K. Vepa
3) D.C.Karve (4) Ashok Mehata

17. WAAFG TR GEHRA NN € gfgea 71 ot A F
(1) 1949 (2) 1948
(3) 1950 4) 1952

After independence, the Government of India passed the First Industrial Policy
resolution in

(1) 1949 (2) 1948
(3) 1950 (4) 1952
18. XU HiSfaeiat amoft 2 < IETET AR,
(1) Toufes =it (2) Wit
(3) Il (4) TOATRT TR
The water stored in dam is an example of
(1) Potential energy (2) Kinetic energy
(3) Atomic energy (4) None of the above

19. FRoieaT IR el Hume ffea S @ 6 3T9d S e SrEd
(1) AVEEGHHIh 4 F ST VR 2 A HHl gt
(2) AVEEIHHIF 2 3 A1 U[TH 4 A FH Bl
(3) STVEEHMIF 4 7 3N T 2 = arear
(4) AVEEIHHIE I NUF e ARG Tedrd

When an atom emits ¢ -radiation and gets converted into another atom its

(1) Mass number decreases by 4 and atomic number decreases by 2
(2) Mass number decreases by 2 and atomic number decreases by 4
(3) Mass number increases by 4 and atomic number increases by 2

(4) Both mass number and atomic number remains same

HodT HIHTATST ARTT/SPACE FOR ROUGH WORK
P.T.O.
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20. R g ALAH AR 7.
(1) 108.1. (2) 2097,
(3) 25@.1. (4) 30®.H.
The least distance of distinct vision is
(1) 10cm (2) 20cm
(3) 25cm (4) 30 cm

21. ETET Yeahall Ueh TRymoT o g e
(1) 24 (2) 27.3
(3) 30 (4) 365

The moon takes

days to complete one revolution around the

earth.
(1) 24 (2) 27.3
@) 30 (4) 365
22, T W AT YRE safadra.
(1) FrmEr wie @) T
3) Forem (4) HIR qHe
Plaster of Paris is prepared from
(1) Dead burnt plaster (2) Alum
(3) Gypsum (4) Copper Sulphate
23. RIYT=AT Uk UH-HIe Aeie 107 qeA Tah! 3T
(1 M 2) N
(3) A 4 X
One gram-mole of a substance contains number of molecules.
(1 M ) N
3 A 4 X

FHoeqT HIHTHETS! STRTT/SPACE FOR ROUGH WORK
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24, Tfiatd T fau™ Hord TR ?
(1) TREE S T Ufiae |ard
(2) deHr fieear™ (tadpole) SSHhTd TR Bl ST =T AY2TS To- ARE™MH FR
et AT
(3) wREEEm € Uyl ‘ae Faser g’ o
(4) dEEEm R 93id TS FEEREE 9 98 I AfFavaH S
Which one of the following is not true ?
(1) Lysosomes are present only in animal cells
(2) When tadpole transforms into frog, the tail is digested by Lysosomes
(3) Lysosome is the cell’s waste disposal system

(4) Lysosomes oxidise carbohydrates and fats, present in the cells

25. 2 T foreresui sfiaae o1ed.
(1) A,B 3K (2) AT C
3) A,BaD 4 BacC
are water soluble vitamins.
(1) A,Band K (2) Aand C
(3) A,BandD (40 Band C
26. wyHE fawrm= 1 TR AT STl
(1) $eTRH | 2) Tgfem
(3) TRgRIfeA 4) FmRERA
In diabetic condition is used.
(1) Interferon (2) Insulin
(3) Erythropoietin (4) Somatostatin
27. WRAWE 11 T SUsfl ® Rishavar™ Arerw TevE wIe] FuETd .
(1) 1834 (2) 1835
(3) 1850 (4) 1857
In the year English was made the medium of instruction in India.
(1) 1834 (2) 1835
(3) 1850 (4) 1857

Heedl HIHTHTS! ARTT/SPACE FOR ROUGH WORK
' P.T.O.

https://universitynews.in



https://universitynews.in

BMW 10
28, YRAME tea= GEaTd el ABH HRAT Tea SR 3 T,
(1) @ fam (2) e ToEE!
(3) e g (4) oS HF

was the Governor General of India when railways were

introduced in India.

(1) Lord Rippon (2) Lord Dalhousie
(3) Lord Curzon (4) Lord Canning
29. 1857 A ‘wWraA g & IY It frfee.
(1) T g% (2) HETCHT e
(3) . 31 g (4) foam v
‘The War of Indian Independence 1857 the book was written by
(1) Motilal Nehru (2) Mahatma Gandhi
(3) V.D.Savarkar (4) Vinoba Bhave

30. Yw-310 T Ufeen Yo Al et g el ?
(1) 1855 (2) 1853
(3) 1857 (4) 1856
When did the First Mumbai-Thane Railway line started ?
(1) 1855 (2) 1853
(3) 1857 (4) 1856

31. @O, Wt sfeshr 3 T freror ar 9g: e geRd o g 2
(1) weTenr e (2) M. F. TG
(3) wwHTY e (4) GIEE A
Who was the proponent of the Four-point formula (Chatuhsutri) : Self Government
(Swaraj), Use of Domestic Products (Swadeshi), Boycott (Bahiskar) and National
Education (Rashtriya Shikshan) ?

(1) Mahatma Gandhi (2) G.K.Gokhale
(3) Lokmanya Tilak (4) Subhashchandra Bose

HESAT hHTATS! TRTT/SPACE FOR ROUGH WORK
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32, emiR T Y wefl forfger 2
(1) =R e (2) 9T I TS
(3) HETCHT S et (4) T o1 %
Who wrote the book ‘Gulamgiri’ ?
(1) Justice Ranade | (2) Bhau Daji Lad
(3) Mahatma Jyotiba Phule (4) R.D.Karve
33. ? 1857 =1 ISHTAT IBH WRATS Toe-RK LA &I,
(1) S SR (2) afE wHarcd
(3) oy T (4) AR HMAT
was the Governor General of India when 1857 revolt broke out.
(1) Lord Dalhousie (2) Lord Cornwallis
(3) Thomas Munro (4) Lord Canning
34, Y@ Vv ISENh 1875 N TG 331G & A9 T,
(1) g9 ST |t
(2) gorg o g
(3) U 0T STEHETR
(4) STEHETR 9 Y3
Deccan riots of 1875 were major agrarian revolt in
(1) Poona and Sangli
(2) Mumbai and Poona
(3) Poona and Ahmednagar
(4) Ahmednagar and Mumbai
35. 2001 =T SFVHIER AT Gaid il Sehaean TSI AR
(1) fufewrm ©2) >
(3) HeTrSg (4) AHE
As per the 2001 census state of India has the lowest population.
(1) Sikkim (2) Kerala
(3) Maharashtra (4) Meghalaya

HEST HITATS! ARTT/SPACE FOR ROUGH WORK

P.T.O.
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36. TS SRUGHIT AIeT ATEEhIET A1vT HH] HIOITHS A 7 et fyewfaa et oM.
(1) sfeen (2) =EI-3 4T
(3) \MiMET (4) HISA
The new portisdevelopedat___ forreducing burden of goods transportation

in Mumbai port.

(1) Haldia (2) Nava-Sheva
(3) Marmagao (4) Kandla

37. WEERE ARG R eI SR 3.
(1) FweeeRa (2) % Gewia
(3) s weERd (4) Rl
Multilayered growth is the characteristic of vegetation.
(1) Semi-evergreen (2) Dry-evergreen
(3) Wet-evergreen (4) Deciduous

38. 1 feaeft Sfees gwd T eifcam T,
(1) 1 f&@sr 1957 (2) 1 s 1956
(3) 26 AT 1958 (4) 15 I 1947

Bilingual province of Mumbai came into existence on
(1) 1Dec. 1957 (2) 1 Nov. 1956
(3) 26 Jan. 1958 (4) 15 Aug. 1947

39. AU YRATAT SV TE=AT WIS SITEaTE gaid |7id AR 2

(1) F=m (2) SR

(3) T (4) wr

Which river basin is the largest water resource of Southern India ?
(1) Krishna (2) Periyar

(3) Godavari (4) Kaveri

HooAT RINTATS! JATTT/SPACE FOR ROUGH WORK
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40, wERegEn Ty Towa 3 v an Tsar €ie ST,
(1) iR @ 92
(3) S (4) g
district of Maharashtra is located on the boarder of Gujarat and
Madhyapradesh.
(1) Nashik (2) Dhule
(3) Jalgaon (4) Buldhana
41. i IRE gaia S Ieare A B
(1) g8 T (2) T
(3) fewg (4) e
Natural gas is produced at on a large scale.
(1) Mumbai High (2) Nazira
(3) Digboi (4) Koyali
42. TERIS TSATT WY qsi-amd TEUTATd.
(1) ImHEd (2) Wik 9ER Tl
(3) HIAETE (4) Tefy
The pre monsoon showers in Maharashtra are called
(1) Mango Showers : (2) Coffee Blossoms
(3) Kalbaisakhi (4) Aandhi

43. TEEIUH HIVET SATRIHR JA¥a SATIHR HiSq AT ?
(1) AN WA=
(2) THFAET §IHF
(3) W HfUEhR
(4) wa: = yEarET o EewRuaTEn g9
Which one of the following is not the fundamental right ?
(1) Freedom of speech
(2) Right to equality
(3) Right to property
(4) Right to follow the religion of one’s choice

FHoT HATHTS! AWT/SPACE FOR ROUGH WORK
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44, Y% 379 ARTEIE T 93 FIR3-F 2d ?
(1) ARG ARG 1T
(2) AR AL U
(3) e FFIR worsh)
(4) HoE qorsfl i
Where are Mumbai High Courts benches ?
(1) Aurangabad Nagpur Nasik
(2) Aurangabad Nagpur Panjim
(3) Mumbai Nagpur Panjim
(4) Mumbai Panjim Nasik

45, VAR Tsager=at fJum 3 wdfied wem TR ‘et AR Tdg Fell IR,
(1) 36751 (2) 2949 30
@) 19 (4) 32735

The provision to ‘right to freedom’ is situated in the part 3 and article

of the Indian constitution.
(1) 36to51 (2) 29to 30
3 19 (4) 32to 35

46. TN fIdTHTa ARG TR HTATA.
1) w=h
(2) wudw wfa
(3) ERENET T
(4) TSIRIT BT
The draft of Government Bill is prepared by
(1) A Minister

(2) The Parliamentary Secretary
(8) The Speaker of the Lok Sabha
(4) The Speaker of the Rajya Sabha

THood! HATETE! AT/SPACE FOR ROUGH WORK
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47. HERTSETE TRuiyer= fohdt smia fasoft Feft o1 2
(1) 4 2) 3
3) 2 4) 1
Municipal Council in Maharashtra is divided in categories.
1 4 2 3
3 2 4 1
48. TTefl TR THH TR — TR T 9 el
(1) 1949 (2) 1976
(3) 1955 (4) 1952
The Parliament of India passed ‘The Citizenship Act of India’ in the year
(1) 1949 2) 1976
(3) 1955 (4) 1952

49, TRIAUh! FHIVIT L TSATHR AR ?

(1) A [ (2) R

(3) TEWSEA F (4) <A T=HA
Which of the following is a State Government Tax ?
(1) Custom duty (2) Income tax

(8) Corporation tax (4) Land Revenue

50. @ o U
(1) A T qagaEE Trsc
2) S R T=1m viea
(3) & I fades TETAfaREd gewm AiEa
(4) N I fadgs g AUEEE) AR
Private bill means
(1) Which was placed by Prime Minister
(2) Which was placed by Minister
(3) Which was placed by member of Parliament other than Minister
(49) Which bill for common people

HESIT RIATETS! ARTT/SPACE FOR ROUGH WORK
P.T.O.
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51. Yeial it ‘A’ a1 ‘B’ = forma e,

86_54_81

A B 63
(1) A=28 B=42 2) A=22 B=46
B) A=42 B=28 4 A=32 B=44
Find the values of ‘A’ and ‘B’ in the following equation.
86_54_81

A B 63
(1) A=28 B=42 2) A=22 B=46
(3) A=42 B =28 (4) A=32 B=44

52. WIS TRAME AT TS ST TahT fafimse gm e omed. 3 93 i@t @ o 7uR Gielid

36 | 64 | 81

49 [100| 2

121 | 144 | 169
(1) 16 2 9
(3) 225 (4) 196

In the following question 8 of the 9 cells are filled according to some rule. Find the
missing number from the four alternatives given below.

36 | 64 | 81
49 |100 | 2

121 | 144 | 169
(1) 16 2 9
(3) 225 (4) 196

53. J&ITAT WA T &7 Ql-el STSphgd 5 a1 3R, T 1 WA Fohell 981 o7Rd ?
(1) 8 2) 9
(3) 10 4) 11
In a row of trees, one tree is fifth from either end of the row. How many trees are
there in the row ?

(1) 8 2 9
(3) 10 4) 11

THoedT HRIATATS STRTT/SPACE FOR ROUGH WORK
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54. Wil SHHE el gl STt S Ty e W farer=an Sl v s a5 ql
RRIDIEPCRECKR
16 1 9
2549 . 36 25 81 @100
121 49 16
1) 256 2) 225
(3) 676 (4) 324
Observe the given number relation around the circle and find out the number in
the place of the question mark.
16 1 9
25 49 , 36 25 , 81 @100
121 49 16
1) 256 2) 225
(3) 676 (4) 324
55. SR @ad foag Peaml Iq e @ AR ISiET foad s feash aga 2
(1) e (2) g9ar
(3) IR (4) TEAX
If independence day falls on Sunday, the coming Republic Day will fall on
(1) Sunday (2) Wednesday
(3) Friday (4) Thursday
56. fImie S sTarT Weiere e ufvem faien e, ot = 39 g1 Hivre fedier afee 2

(1) qfem (2) <faor
3) @ (4) I

While doing Shirsasan, Swapnil’s back faced west. In which direction would his
right hand be ?

(1) West (2) South
(3) East (4) North

hoedl HIHTATSI WFTT/SPACE FOR ROUGH WORK

P.T.O.
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57. SR T e Sfoe it fobe o watamem e,

LNS

() TNa @) Lu=

(3) TUa (4) 2ur

Find the correct water image from the alternatives.
LNS

(1) TN2 @) Luz

(3) THUa2 (4) 2ur

58. T UIUE uftamen 30 WieH =merd e, Fat 39diahe g4 al 30 HicH Tel. @I et Sihe
T3 @ 20 Hied 7. T21 Seiee ded al 30 Hied el ) =1 GeaT =1 SR fohef) Sfatat

AR ?
(1) 20 Hed (2) 30 Hed
(3) 50 Hied (4) AT TTE

A man walks 30 metres towards west. Then, turning to his right, he walks
30 metres. Then, turning to his left, he walks 20 metres. Again, he turns to his left
and walks 30 metres. How far is he from his initial position ?

(1) 20 metres (2) 30 metres

(3) 50 metres (4) None of these

59. R3S a@El Al S 9 Y € 31er Seen e feAfEen niefl T Saed gt s Wi 2

(1) R @) T
3 S (4) Y
Ifletters from S to Y are written in reverse order, which is second last letter ?
(1) R 2 T
3) S 4 Y
60. STNURH A Rgura fFom o, fhmaen T or. @ SRy dF fawismiewn faaw
0T ?
(1) @R 2) Ue=m
(3) TEER (4) wIHER
Two days after today is Christmas. Christmas falls on Sunday. What was the day
two days before today ?
(1) Monday (2) Sunday
(3) Thursday (4) Saturday

THoeT HIHTHTE! AWM/SPACE FOR ROUGH WORK
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61. U Yl U stEen e, TRl &) govan fhar smrean 9 sEeie] AT, 1guen & gerare
SR Y. Tt B AT SR SHelt TR, Mt € Ui gl TR, @ ST SivT
ISR o) TR 2
(1) Teh (2) geran
(3) s (4) WA
Five girls are sitting in a row. Rashi is not adjacent to Sulekha or Abha. Anuradha
is not adjacent to Sulekha. Rashi is adjacent to Monika. Monika is at the middle in
the row. Then, Anuradha is adjacent to whom out of the following ?
(1) Rashi (2) Sulekha
(3) Abha (4) Monika
62. oI AT TiER & ST o it wgonett, @ et € A afer uperdt e gert o,
1 e S A w2
(1) udt (2) WS
(3) w@ (4) et AT
Introducing a man, a woman said, "His wife is the only daughter of my father."
How is that man related to the woman ?
(1) Husband (2) Brother
(3) Father-in-law (4) None of these
63. wwIdE Freerem foehToft vy SrreT @i,
27 19|15
22 | 4 |12
5 17?21 38
1 5 2) 6
3) 3 4) 2

Find the number in place of question mark.

2719 |15

22 | 4 | 12

5 12| 8
1) 5 2 6
3 3 4) 2

Hoedl RIHTETS! AWTT/SPACE FOR ROUGH WORK
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64. Tocten vt v TRt faga sTrepei=n W qoi &,

ST P[]

o P @ |
® [oTa @ |—t5

Complete the following series of figures by selecting appropriate option.

0|0 0
o [l
W s @ |-
® [oT5 @ o

65. Uk Hihfaeh 984 ‘dom pul ta’ YN ‘bring hot food’, ‘pul tir sop’ TN ‘food is good’, and
‘tak da sop means ‘good bright bay’, @ & 98a ‘hot’ F8 fafea S5 2
(1) dom (2) put
(3) ta (4) Ear Id e

In a certain code language, ‘dom pul ta’ means ‘bring hot food’, ‘pul tir sop’ means
‘food is good’, and ‘tak da sop’ means ‘good bright bay’. Which of the following does
mean ‘hot’ in that language ?

(1) dom (2) put

3) ta (4) cannot be determined

66. U gormt arEft 6 Foeft S s yRwda =rera) @ arefl 2 TRt S aea e = A W

v SO 3 ferd 2
(1) areit 8 fopet (2) a3 foee
(3) areft 4 foreft (4) areh 5 e

A boy walks from his home to school at 6 kmph. He walks back at a speed of
2 kmph. His average speed is

(1) 8 kmph (2) 3kmph

(3) 4kmph (4) 5kmph

FHoAT RATATS ARTT/SPACE FOR ROUGH WORK
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67. SR POT, TEA, PET, PEN © 31s8 274, 431, 234, 235 3@ feifest 9a 3adict @ TAPE &1 9155
HIMIRR ferfedr Aga 2
(1) 4123 (2) 2471
(3) 4234 (4) 4231

The words POT, TEA, PET, PEN are written as 274, 431, 234, 235 respt. How will
the word TAPE be written ?

(1) 4123 (2) 2471
(3) 4234 (4) 4231

68. 4 T His erEdiedr 7 foreX Wz wvAmEA 1 Tt vt STdisE FieE S ZETa

fier yo w1 ed ?
1) 4% (2) 4.33%
(3) 4.5% (4) 4.66%

One litre of water is evaporated from 7 litres of sea water containing 4% salt. The
% of salt in the remaining of solution is

(1) 4% (2) 4.33%
(3) 4.5% (4) 4.66%

69. W HEATHA 0 HvaETe! A g frae.,

5,9, 17, 29, 45,

(1) 60 (2) 65

(3) 68 (4) 70

Complete the following number series by selecting appropriate option.
59,17, 29, 45,

(1) 60 (2) 65

(3) 68 4) 70

70. 7= e TG IWAT ARG, T T Y TE). 1T Taid e TR, TSH Tgar=an 31 31T, 0] e
AR TR, TS AT 77T T8 R TG Taid Sigel Hior 1R 2
(1) TsH 2) @
(3) Tgd @
Five friends are standing in a row, Ravi is not ahead of Rajan. Rekha is in the
front. Rajan is behind Rahul. Renu is behind Ravi. Rajan is not behind Renu.
Who is at the end of the line ?
(1) Rajan (2) Rawi
(3) Rahul (4) Renu

HoedT RIATHTS! ARTT/SPACE FOR ROUGH WORK
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71. TG A SO SIS AT He.
(a) TS : HEd
(b) 9@ : oA
(©) ®fwh : FIA
(d) WERN : SH
(1) (a) 2) (b)
3) (o) (4) (d)
Choose the odd pair of words.
(a) Chandragupta : Maurya
(b) Babar : Mughal
(¢) Kanishka : Kushan
(d) Mahavira : Jainism
1) @ 2) (b)
3) (© 4) @

72. % =] 3 Ui AT sracien TR e S e U1 e o1, & et v = 1 |
AT T 3k TN hel, T Thd SIS AT U1 DTl 3T, o1h fohelt Sieped overefie 2
1 4 2) 6
3 1 4) 9
A 3 cm cube has been painted red on all its sides. It is cut into one cm cubes. How
many cubes will be there with only one side red ?
(1) 4 (2) 6
3 1 4 9

73. T A SEHOTRT W& INET,
(a) ATISH
(b) g
(© Tafeed
d) FaAre
(1) (@ (2) (b)
3) (0 (4) (@)
Choose the odd one out.
(a) Niger
(b) Suez
(c) Mississippi
(d) Colorado
(1) (@ 2) (b)
3) (o) 4) (@

FHoEQT FHIWAE AT /SPACE FOR ROUGH WORK
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74, GEE T B Reed et i R, Gidia Jmed e 9 Temed sEuR wey
HiCICUIECIERIREES

M @ (4 0)

® () @ (o)

Following question is based on the following diagrams. Choose the diagram that

illustrates the relationship among three given classes described in the following
question.

Male, Female, Girls.

0 @ (L 0)

® () @ (o)

75. BDF:HIL::MOQ:?

(1) XVT (2) TVX
3) VTX @) TUX
BDF :HIL::MOQ:?

(1) XVT (2) TVX
(3) VIX (4) TUX

76. UHI MEMLA 50 HivS, 45 UeAT, 8 IZ ST FE) AT 3ed. S MEHE ST TR
SRS 224 TR IR e TRReAT= T fohdt 2
D 5 2) 8
(3) 10 (4) 15
In a caravan in addition to 50 hens there are 45 goats and 8 camels with some

keepers. If the total number of feet be 224 more than the number of heads in the

caravan, the number of keepers are
1) 5 2) 8
(3) 10 @) 15

HEedT HIMTATS! HIT/SPACE FOR ROUGH WORK
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77. O TR FEagd gl w0

%W:aﬁﬂaﬁa
(1) TGN : TS (2) gOHRH : 9Rd
(3) HEIfeH : gt (4) afE J=atem ; Wrn

Select the correct option to complete the sequence.

Hitler : Germany,
(1) Shakespeare : England (2) Tulsidas : India
(3) Mussolini : Italy (4) Boris Yeltsin : Russia

78. Wil WAMES 7% W T IRE fodl 197 TS 3118 w1 T fafkre fmmgan wen fore
TS TRd. T Famgar et swoan spoarndt aa watg fae.

81 | 25 | 729

9 | 7 |125

512 |64 | 8
(1 3 2 4
3) 5 4) 6

Following question there is a square having nine cells. Eight of the cells have
been filled in with numbers by using certain rule. Find the correct alternative to
fill in the empty cell by the same rule.

81 | 25 | 729

9 | 7125

512 |64 | 8
1 3 (2) 4
3) 5 (4) 6

79. 1T 1989 a1 feasht wrivam B1ar @t 1975 =1 STATHTST SHIvTdT aR BT 2

(1) Tam (2) ThIR

(3) WHAR (4) HHER

Ifit was a Saturday on 15t April 1989, what would have been the day on Children’s
Day of the year 1975 ?

(1) Sunday (2) Friday

(3) Saturday (4) Monday

FHSeAT HHTATS! ARTT/SPACE FOR ROUGH WORK
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(®) sfoemw

@ (3 2 (39)
@) (F) 4) ()
Select the best alternative.

Man : Biography : : Nation : ?

(a) Leader

(b) People
(¢) Geography

(d) History

(1) 2) (a)

3 © 4 )
81. . T4, H. B TAYEY Wil 1) T S

(1) fefsres afera wg

2) fefegsade Fufthet et

(3) ST FARHT HI

(4) SEAIN Juehd Had

The abbreviation DNC is used to denote
(1) Digital Numerical Control

(2) Distributed Numerical Control

(3) Dual Numerical Control

(4) Dynamic Numerical Control

82. TETE I RIS JSSHTT ST IR B0 ISV IeqsiA AT AT Bse
(1) E@Eda a ued (2) THHSK d U
(3) H=T (4) =wTeaT 3T Wi
A hot body will radiate heat most rapidly if its surface is
(1) Rough and white (2) Polished and white
(3) Grey (4) Black and rough -

THeedT HIATHTE! AT/ SPACE FOR ROUGH WORK
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83. FYH TS feqmsq (Fg) AT T HIfec =T STEFIGHIETRE! IV Ffed= aTaX hefl Siar ?
(1) Sft. 9. T%. (2) . 2. .
(3) =, 1. 3. . (4) . . 3. i
Following is the data exchange standard in Computer Aided Design (CAD)
(1) GIF (2) PDF
(3) IGES (4) MPEG

84. cgIR W TATET TR FHEA WiefieTaeh! F3caT Thr=aT Terfar Jiedt R wiTfm s

IS I ?
(1) aes W ) fides
(3) L A=A (4) @

Which is the most suitable work material that can be machined by ultrasonic
machining ?
(1) Mild steel (2) Brass

(3) Castiron (4) Glass

85. IAHL ARTH BT FohR Wicfiedchl HacaT ITART ATRATd ?
(1) T AmTH
(2) @He fTHTH
(3) WrmmHsE WM
(4) @ fHuda famye
Transfer machines are employed under the application of
(1) Hard Automation
(2) Soft Automation
(3) Programmable automation

(4) Low cost automation

FHooAT HIATHTE! TATT/SPACE FOR ROUGH WORK
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T TS ST T TR 2 el T TR e 2
(1) o FHFIEe
(2) SAfRIeH IR TR T
(3) 1 fevadlfes FpRe Sfa@i
(4) S|
A carbon monoxide analyser works on the principle of
(1) Thermal conductivity
(2) Paramagnetic properties of O,
(3) Non-dispersive infra-red absorption

(4) Expansion

87.

IRUTRE G- TR Ja-d (Sad < TG 81 T el 3R

(1) dTE T AEAMT FAGHTHHRTE HHAT

(2) & AT AT TEHTHTRI BRI

(3) dTE TBfUATETS] AT ST Ffardt

(4) EYUIT FHAAYS FHUIR THE

The disadvantage of radial ply tyre compared to cross-ply tyre is
(1) Uncomfortable ride at low speeds

(2) Uncomfortable ride at high speeds

(3) Higher cornering power

(4) Lower rolling resistance

88.

TTeH THE JAUHTE 313 43 ITE1T ST90Td A 0T Gl ST daae 378,

(1) =rfier st (2) g s

(3) T =9 (4) iR o

Most anti-skid devices are employed on

(1) Rear brakes (2) Frontbrakes
(3) Secondary brakes (4) Parking brakes

HesdT HIATETS! ARM/SPACE FOR ROUGH WORK
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89. ‘Wf3e g Wite AR e AT THET TR HivreT WA T Her Tt ?
(1) fgfem e
(2) urfen wefa
(3) fafert wefa
(4) Y A
The machine tool in which point-to-point numerical control system is applied is
the
(1) Drilling machine
(2) Grinding machine
(3) Milling machine
(4) None of the above

90. T IMUTRG S U&TT S Fooial SoM fern RIS 3G Ihd 1.
(1) e Tawd (2) ST TS
(3) HiIe A (4) 3T HrIRE
No engine can be more efficient than the engine working on
(1) Diesel cycle (2) Dual cycle
(3) Carnot cycle (4) Ottocycle

91, UHRRETHAT He-aTTE Yasl AT Thisie Farefel STae Wieiadsh! Hiord 3fd ?
(1) =hHl 3= 41
(2) T T AR
(3) HHI TETET SH
(4) ST TETET 59
Refrigerant enters the condenser of a mechanical refrigeration system as a
(1) Low pressure gas
(2) High pressure gas
(3) Low pressure liquid
(4) High pressure liquid

FHoeIT HwIHTETS! AWTT/SPACE FOR ROUGH WORK
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92. Tl AR TEATET ATV Sadieh WMot areid e S T Siiciel] fieesel ATl Tiefied
TR 3T Iehel
(1) THTAT TTAAVIRT See Sl TETET
(2) UET GE BT G 107 ATAT ST
(3) UTHTER Y2 T I o TES ITEEad
(4) AT Tl Arehed! STl
An electric motor driving a centrifugal air fan is found to be running hot. The

most lively cause is

(1) Slack driving belts

(2) Fan starting load is too heavy
(3) Heavy deposits of dust or/and oil
(4) Bent fan blades

93. IRF=T A Tl HoAEE) =T TR T INel SHauET A0 IUHOTY

TEUAT.
(1) TFETEE Sgicd (2) TEHIE UIRY
(3) ¢ Uy (4) WHS
The device located in the exhaust system to reduce the exhaust noise is called the
(1) Exhaust valve (2) Exhaust pipe
(3) Tail pipe (4) Muffler
94. IMYFH IEAHR WA T JHTOG .
(1) 1:13mfor4:1
2 4:1=mfr2:1

(3) 12:13mfvr 24: 1

(4) 24:137for48:1

The steering in the case of modern automobiles varies between
(1) 1:1and4:1

(2) 4:1and2:1

3) 12:1and 24:1

(4) 24:1and 48:1

THoodT HIHTETE! SHT/SPACE FOR ROUGH WORK
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95. T fum=ht wear Ta aqrfur I+t Yo AT wEE A TR
1) 2 F @) T sfma
(3) HET AT (4) FR A

The angle between the vertical line and the centre line of the king pin is known as

(1) Toe angle (2) King pin angle
(3) Caster angle (4) Camber angle
96. eI FeraraT Wi IwmT T TR,

(1) sffamien 3@ 3 "

(2) TEATER AT 16 ATerad 1 Fevd

(3) Efomury ol vfF eearao SERivdd dereEdr am T
(4) 3ISF= AT HHl AT IEn U

The primary purpose of the clutch in automobiles is to

(1) Act live a brake in case of emergency

(2) Give high speed to the road wheel

(8) Take up the drive smoothly

(4) Decelerate the engine

97. A TUATET TR X BT WUl I wiash 3T 7
(1) &
(2) AATERT STENY
(3) o1 WTR
(4) AT
Octane number of SI engine fuel is a measure of
(1) Purity
(2) Knock resistivity
(3) Pollution level
(4) Efficiency
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98. SERFE TRH Llerd 3R Erefiesh! Hata wewaT wrRET v ?
(1) 3N WEst =g wuareh glawn
(2) ISHT TAH
(38) Tehmrelia sl
(4) Sezvft Fva™ o
Most important advantage offered by Direct Injection (DI) diesel engine is
(1) Easy cold starting
(2) Light weight
(3) Low cost
(4) Easy assembly

99. IoIFIeh SN AT GIALT ST . TR, IS FIvTeht 389 AT T70n Faifes dig=h

3R ?
(1) e 1w 2 Te=iege faedm
(3) i o el (4) TEsc g Rredm

Most suitable fuel supply system for C.I. engines having electronic engine

management is

(1) Unit pump system (2) Distributor system

(3) Common rail system (4) Assembly line system

100. 9RATdS &l TH-2 N0 FHR0T JOIeligan STe-TER Qe SV shieH AHTaaIsSH S Iasmed
T TG ST Iehd.
1) 2.2%
(2) 320 9. 91, @,
(3) 2.2 7m/f%. =
(4) 100 91.d.um.
Asper the BS—II emission norms in India, the allowable carbon monoxide level is
1) 2.2%
(2) 320 ppm
3) 2.2 gm/km
(4) 100 ppm

&HEHT RIS AWT/SPACE FOR ROUGH WORK
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AW—(W1W3%....) |
(8) WYl fafed hotean fafite SIvfla wed M (W6 9 ) . Ty i faitead Iwafider
T 3R FHITETER Fod hHH HodTd d FHidl HITT I el 3R, W THA A § AR
ST IMHAA S ShetedT * eammea g Aseri Sase svamseay ifufem-s2”

TS TGIJAR hRATg FL0ATd A5 9 QN1 SAad] AT Ueh ST ShIETareal 37101/ fohar 93
Ts BTR AT GeT=AT g I 815,

(9) IR FAUBRHR] AR fafta Foel 9@ FUerHa SHEITET & T W@a: St
TUEATRETTIIRT B3 ST T 3T, WA THerT ShelTaret WIuange’ SHeani ATaed1
IUTHRAT WO — 1 GRAAHTHRS 7 FI@Tdar e 0 ayaes AR,

THAT T9A
A F. 201, T I T FOIETE RN TG T el 7
(1) @ SaTHE qrad! (2) $yatag faamErr
(3) TST THATEA T (4) MITEFWT MG

T I 9 I (3) T THEIRA TS 3T 3R, W 1 Y W (3)” BiEA.
ITEdd WATATHAT 9. &, 201 FOS SH-FHF Q) 2 TG U0 SHATTeha et
TTEfaol TES IR,

3%.20. @ @ @ @
T TG T TG ioheiet Tedieh JET=l qua ITGhATeh 81 raTal Wasdiedl Qfaeteat

STUBFaIA o1 & TSHHHEH Geod ages qoiqul SMTihd #ed SEaTal. geiNar
Therd hiTeaT WIS Sicta ST, e a1 s 99 andes .
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